Day 9 Gr 6 Math Ch 2 Lesson 2 Numbers all around us OKeefe (day 2).nd&eptsohber 20, 2019

Write the following in standard form

a) Sixty-three billion three hundred four million three thousand fifty-six

— O
aE——— —

b> 204 D03 o 5. 6
T 2 T
b) 70996000 OOO+6'600 000 000 + 000 000 +;V600 000 + 20 000

+4
N6 058 010 004

2) Write in written and expanded form
403 007 600

e v,
MmN +ho wnit
S four hundeed dhree Million Seven thousand S

hurdred
3 yop oo 000+ B 60 00 + 7 0 4 Lo

3) Show work for 100 000 less than 1 625 789
- 10000qg

| 525139
4) Look at the list of integers : -9, -12, +4, +7, 0, -7, +1
a) List the integers that are less than 0

=1,79,-12
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Quiz Time (Put books away)
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Use calculators but show work
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Name two integers to meet each requirement:
@) 5 units from -2 on a number fine
b) 12 units from +4 on @ number fine.

€) 5 units from -8 on a number line
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Two opposite integers are 16 apart on a number line. What could they be?
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Replace the | }with a greater than (>) or less than (<) sign to make these
expressions frue.

a) 2{7i2 b) +8i -2

o) -12{7s
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Draw a number line from ~10 fo +10. Mark these integers with dark dots on your
number line:

+2,-6,-8,47.

Mark each of their opposites with an X.
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What integers are represented? (Remember that posifive is light.)

) Draw the opposites of each of the integers in parts a) and b) and tell what
the new infegers are.
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List two integers to fit each description.

a) between-4and 3
b) between—-4and-10
) between-12and +1
d) alittie greater than —¢

) alittie less than -3
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Put these integers in order from least fo greatest:
~2,48,42,-6,-10,
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  Sep 6-10:20 AM     8) Write the correct integer for the scenario.   a) Karen gave 6 candies away   			  ____      b) Ted walked up 4 stairs 					  ____      c) The temperature dropped 6 degrees  ____                      
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